DWARKA INTERNATIONAL SCHOOL
REVISION WORKSHEET (2023-24)
CLASS 5, SUBJECT- ENGLISH

A. Fill in the blanks using the correct form of future tense from
the given options:

1. The woodcutter (will chop/ have been chopping)
the tree.

2. Next month Shikha (is travelling/ will be travelling)
to Brazil with her husband.

3.1 (will be returning/ return) to your place next
week.

4. The gardener (will be shredding/ shreds) the old
trees tomorrow.

5. (Will/ Would) you help me in my assignment
day after tomorrow?

6. 1 (would not/ will not) go to Chennai.

7. By half past seven your uncle (was arriving/ will be
arriving) in London.

8. We (will be decorating/ are decorating) the rooftop for
Diwali.

9. We (will be celebrating/ celebrate) Christmas next
month.

10. (Will you be going/ Are you going) out this
evening?

B. You are Ranbir Sinha/ Rushika Das, the Head boy/ Head girl of St.
Mary School, New Delhi. Write a notice on behalf of your school
inviting all parents of the students of your school to celebrate Annual
Day.




DWARKA INTERNATIONAL SCHOOL
Class - V, Mathematics Worksheet
Q1: Write the following in words.
a) 56299.099 b) 190.222

Q2: Express as numerals.

a) Forty five and three hundredths
b) Seventy five point two two five

Q3: Write the expanded form in fractional form.

a) 179.258
b) 11.005

Q4: Expand the following numbers in decimal form.

a) 0.875
b) 927.729

Q5: Write in standard form.

a) 900+20+9+ — +—2—
100 1000
b) 300+20+1+0.1 +0.02

¢) (2x1000) + (4x10) +(6x1) + (1 x ) + (9 x =) + (6 x —)

Q6: Compare the decimals.

a) 19.705 19.75
b) 53.7 35.7
¢) 19.67 19.067
d) 123.45 123.450

Q7: Find the smallest decimal number amongst the following:
a)3.3 b) 7.4 c)9.4 d)3.5

Q8: Write 5.78 as mixed fraction.

Q9: Change the following into like decimals.
4.8; 43.659; 0.48; 0.4; 436.82

QI10: Fill in the blanks :

a) 6.6x100=

b) 0.004 x =4
c) 1.45x =0
d) 0.7x 5=

e) 25.5+1000=

f) 1.5+10=




Q11: Write as decimal numbers :

9
a) 32E

5
b) 8ﬁ

Q12: Write the place value of underlined digit:

a) 5855.065
b) 12356.908
) 675.34

d) 456527.62

Q13: Solve :

a) 3465.563 +24.395 + 13.824
b) 452.564 —81.789

c) 216.08 x 2.4

d) 7.344 + 12

e) 4.956 +2.36

Q14: The price of 25 kg of rice is ¥ 920.50. Sam wants to buy only 1 kg of it but is not able to
calculate the cost. Can you help Sam by finding the amount he will need to pay?

Q15: By how much is 14.35m less than 18.74 m?

Q16: Paresh bought vegetables weighing 12.552 kg. If he bought 3.55kg onions, 4.75kg
tomatoes and the rest potatoes. Find the weight of the potatoes.

Q17: The weight of a box is 150.094kg. What will be the weight of 27 such boxes?

Q18: Rearrange in descending order:

a) 87.06, 871.606, 871.066, 871.006
b) 320.537, 302.257, 320.535, 300.552

Q19: Rearrange in ascending order:

a) 43.2213, 34.2312, 34.2132, 43.3221
b) 11.1210 , 11.2120, 011.211, 11.1120

Q20: Assertion (A) : 32.5 =32.50 = 32.500

Reason (R ) : Adding zeros to the right of the decimal number does not change the
value of the number.

a) Both A and R are correct and Reason is the correct explanation for Assertion.
b) Both A and R are correct but Reason is not the correct explanation for Assertion.
c¢) A is correct but R is incorrect

b) A is incorrect but R is correct




DWARKA INTERNATIONAL SCHOOL
REVISION WORKSHEET (2023-24)
CLASS 5, SUBJECT- SCIENCE

Q1. Give one word answer.

a. The control centre of our body.

b. The largest part of our brain.

c. The term used for first aid in case of sprains.
d. Nerves that carry messages from the brain.
e. The actions controlled by spinal cord.

f. Bandage used to provide support to the joint.

g. Diseases caused due to the animal bite of animals like cat, dog.

Q2. State: true or false.

a. The heart, the spinal cord and the nerves form the nervous system.

b. The motor nerves bring messages from the sense organs to the brain or the spinal cord.
c. The cerebrum is responsible for our posture and movement.

d. The cerebellum is the thinking part of our brain.

e. The spinal cord is surrounded and protected by the back bone.

f. Ear is the largest sense organs.

g. First aid is the immediate help given to a injured person before the arrival of a doctor.

Q3. Draw a well-labelled diagram of the eye and write functions performed by its
various parts.

Q4. Answer the following question.

a. Why do you think electrical faults should be fixed immediately?

b. Why do we place an ice pack on the nose for few minutes during nosebleed?
c. Name the parts of the brain. Write its function also.

d. What do you mean by voluntary actions? Give an example also.

e. Write two examples of reflex action.




DWARKA INTERNATIONAL SCHOOL
CLASS-V, SUB: SOCIAL SCIENCE
WORKSHEET-1, TOPIC: CLIMATE ZONES OF THE EARTH

A. FILL IN THE BLANKS:

1. is the condition of the atmosphere at a particular place and time.
2. is the average weather condition of a place over a long period of
time.

3. The word means extremely hot.

4. zone have a mild climate.

5. zones are very cold and are covered with snow throughout the year.

6. The higher a place is from the cooler is its climate.

7. Depending on the amount of heat received there are three climatic or
zones.

B. NAME THE FOLLOWING:

1. The zone that lies near the Equator -

2. The amount of water vapour in the air -

3. To tell what is going to happen in the future -

4. The climatic condition near the sea -

5. The height of a place above the sea level.

C.MATCH THE FOLLOWING:

1. Moderate climate a Tropical zone
2. Covered with snow throughout the year b Poles

3. Receive maximum heat ¢ Temperate zone
4. Slanting sun rays d Cooler climate
5. Higher from the sea level e Frigid zone

D. ANSWER THE FOLLOWING QUESTIONS:

Q1. Name the factors that determine the climate of a place.

Q2. What is the difference between weather and climate?

Q3.Why would you prefer to go to a hill station during your summer vacation?
Q4. How do the winds affect the temperature of a place they blow to?




E. OBSERVE THE GIVEN DIAGRAM AND LABEL THE IMPORTANT LINES OF

LATITUDE AND THE HEAT ZONES OF THE EARTH.

WORKSHEET-2, TOPIC: EQUATORIAL CLIMATE

A. FILL IN THE BLANKS:

North Pole 90° N

.

South Pole 90° S

. Equatorial areas have humidity all round the year.

1

2. The tallest layer of tress in the equatorial region is called the

3. Rainforest occupy per cent of the Earth’s surface.
4

5

. Pygmies live in

B. NAME THE FOLLOWING:

. Topmost thick layer of the evergreen forests.
. Jarawas live in.

rainfalls are very heavy and confined to a small area.

. The lowest level of plants growing in the equatorial rainforests.

1

2

3. A tribe living in Malaysia.

4

5. The average temperature of equatorial region.
C. WRITE TRUE OR FALSE.

1. The daytime heat in the equatorial areas is tolerable.

2. In equatorial forests, trees form a second layer called Emergent.

3. The canopy is formed by the crowns of most trees.
4. The rainforests are sparsely populated.

layer.




D. MATCH THE FOLLOWING:

1. Emergent layer (a) Dense variety of climbers and creepers.
2. Canopy layer (b) Tallest trees.

3. Understorey (c) Crowns of most trees.

4. Forest floor (d) Smaller trees and thick shrubs.

E. ANSWER THE FOLLOWING QUESTIONS:

1. Describe the location of Equatorial region.

2. Name the animals found in Amazon rainforest.

3. What kind of climate does the equatorial region have?

4. Describe the occupation of people living in the rainforests.
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